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(1) 7 X 9 4+ 3 X 2 = 63+6
[ @ | = 69
(2) 7 — 9 = 3 X 2 = 7-—3X%X2
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(3) 7 — (9 — 3 X 2)=7—(9—6)
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(1) 9Xx8—6+-2=72—3 (2) 9X (8—6+2) =9xX(8—3)
=69 =9X5

=45

(3) (9X8—6)-2=(72—6)-2 (4) 9X(8—6)-2=9X2+2
=66—+2 =18+2
=33 =9
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A 150+20Xx6=150+120
=270
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ax[3 0+ [6 Jxs | (Ca]+[6 1) x3
=12 | + [ 18 | =[ 10 | x 3

= 30 = 30

2 I TIEELIHAEZTELL Y, (1 08X 4
(1) (8 + 7) x5 =8 x[ 5 | +7x [ 5]
(2) (13 —9)x 2= [13 | x2 —[_9 |x 2
(3) 16 x 4 =010+ 6) x [_4 ]

(4) 12 x9=12x([10] = 1)

3 HEOXEVAFE-T, TRLTEHELELELY, (1 048X2H)

(1) 34 X 6 + 16 X 6 (2) 70 X 17 — 70 X 12
= (34+16) X6 =70X (17—12)
=50X6 =70X5
=300 =350
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13 13 X 23 =13 x( 3+20 )
% 913 =13X3+13%X20
39 =39+260
56 = 2909
299
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1) 28 X 25 (2) 2. 5 X 2. 3

= (7 X[ 47])%x 25 = 2. 3 2.5
= 7 x (CZF] x 25) = 2. 3 TO0 ]
7x [100] = [2Z3 ]

= 700

X
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(3) 103x15 = (100 + 3) X 15
[100]x 15 + [ 3 ] % 15
1500 |+ 45

= 1545

(4) 99x13 = (100 —[ 1 ]) x 13

=[100]x13 — 1x 13

= 1300 — 13
= 1287

(5) 12X 7 + 38%x7 =( 12 + 38 ) X 7
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(1) 99 X 3 (2) 999 X 7 (3) 10001 X 99

99Xx3 99 9X7 10001X99
= (100—1) X3 = (1000—1) X7 [=(10000+1) X99
=100X3—1X3 =1000X7—1X7 [=10000X99+1X99
=300-—3 =7000—7 =990000+99
=297 =6993 =990099




